Addal247

-1/ PART -1

o R q Rremeel / CHILD DEVELOPMENT AND PEDAGOGY
R © P Il 3 o 37 & foe @l S R g

GET IT ON

ﬁ A Google Play

[3/D]

~
o
m

Direction : Answer the following questions by selecting the most @gxopriate option.
. m

1. PR s @ afeel B A A
R TR E € -

(1) STEstardl, . s = gIEeH,

AT

@) Frder, Re @1 A, dei &
eli

(4) &, Hﬁﬂ_@ﬁ_ﬁ, TE-aar &l
GICEl

2. B afrm & yaw @ I i ©
T ¥ T © WA A ?

ORERCES
@) f&Er [
@y AT 3
(4) FraEE 3
3. STgEleEAr 91 i fed ©

(1) AT famm |
(2) sneafors fagmy
@y frifE faam &
(4) wigghs fawm A

[ Level-2/5210]

Q
The most appropriate group of
qualities in reference of adolescent
boys and girlsis:

(1) Ideal, Good adjustment, Seli-
-respect

(2) Abstract thinking, Reasoning,
Decisionl;naking
™M
3) Observag_)pn, Feeling of revolt,

Habit of fepetition

(4) Philosophy, Good adjustment,

Feeling of social service

Who experimented on 'cat' with

reference to trial and error theory

of learning ?

(1) Paviov

(2) Skinner o
o

3) Thomdﬂgg

O
- (4) Guilfordg

Heredity plays the greatest role in
the :

(1) Social Development

(2) Spiritual Development
(3) Physical Development
(4) Cultural Development

REXQ.
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Which of the fdllowing is not a
projective metffbd of personality
measurement ?{".

(1) Association technique
(2) Construction technique

(3) Case study
(4) Completiont\t_echnique
(@),
)
Who was theocexponent of the
method of Insiglét learning ?..

(1) Thorndike I (2) Kohler

(4) Skinner

"Learning takes place through a
process of need reduction.” The

learning theory relateg

to the
statement is :

(1) Insight theory
(2) Operant conditioned theory

(3) Conditioneq Teésponse theory

(4) Reinforcement theory

"Any thing can be taught at iny stage
of developmen{?ﬁ Expressed by :
Ct;
(1) Ausube] ;g(a) Bruner
(3) Piaget C(4) Gagne
Who postulated the Brain Storming

Method for fostering and boosting
creativity ?

(1) Myres
(3) Osborn

(2) Torance
(4) Gordon

|
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Plateau in the learning curve

indicates :

(1) Working conditions are

favourable
(2) No fatigue
(83) Task is simple
(4) Loss of interest
According to a traditional saying,
‘when the fox could not reach the
grapes despite all it's efforts, it

said that the grapes are sour.' This
is an example of : :

(1) Withdrawal
(2) Rationalization

(3) Projection

(4) Regression

Conditioned Response Theory
givenby it ||

(1) Pavlov (2) Skinner
(3) Thorndike (4) Kohler

............ Is not necessary for the

education of visually impaired
students.

(1) Books in small letters

(2) Audio cassette

(3) Brail text material on the paper
(4) Abacus for teaching  of

Mathematics

PT.O
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The concept of reformatory school

is:
(1) for mentally retarded children

(2) for gifted children

(3) for juvenile delinquent

children

(4) for normal children

Theory of Intelligence given by

Spearman is :

(1) One factor t:heoﬁ(

(2) Two factor theory

(3) Three factor theory
(4) Multi-factor theory

Tolman’s theory related to :

(1) Energy system

(2) Cathexes

(3) Topology

(4) Development stages

According to the need hierarchy

theory of Maslow, basic need at
bottom level's 1s considered :

(1) Belongingness

() Physiological Need

(3) Solf-Actualization ,ﬁ
Dy

(4) Socurity
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Agraphia is :

(1) In this the patient loses the
ability to read.

(2) In this the patient does not
have the ability to express his
thoughts in writing.

(3) In this the patient doe§ not
have the ability to do simple
addition and subtraction.

(4) In this the patient is found to be
unable to name the objects.

Kohler proved that learning is :

(1) bonding of
responses.

stimulus and

(2) the perception of different part
of situation. ‘

(3) an autonomous random activity.

(4) the whole situation perception.

The concept of 'emotional
intelligence' was given by:

(1) Dan Golman

(2) Peter Salovay and John Mayer
(8) Tolman

(4) Terman

Following are the stages of
Kohlberg's theory except ......... .

(1) Conventional

(2) Pre-conventional ';:‘&
(3) Sensori Motor
(4) Post-conventional
P.T.0

e

(3 Scanned with OKEN Scanner


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

S

(8/D)

2l. ‘s @ fww RR A oW B
W # R & dar ¥ “Q"W
R & frg R @ awfud 8 7

() fawm Ren & Ry

Ryaid
\ng%mmm

(sgiimmﬂfwiﬁ

(@]
(4) TR g & T
srm  (fre) @ ddy § P
I9gE A TE e !

(1) dr@T oF G qeaT 2l
2y T @@ ¥ oiteds @ R
(3%@@31@%1‘1%%
(4Y5FmE o% fafd 4 gad Rafy &
e CRIANE A ww g

23. AT F T4 A gERA aEc 6@
T F1 § fam

(J)Fafmvamzﬁmﬁnmmmrﬁf
WT’WEHT:L’QN

L,()/F?fsrrzarm 1 & sfag ud qeym
/ # gifea v aifen,
r~

o

(35}119@ adg F qE aeEl Q
e E LG affaql,«
-

(4) AW el & Ay fafore g
3] e fewrr afeuie

[Level-2/5210

k. a

2l.

22,

23.

GET IT ON
Google Play

"Ihe dovelopment of child start
from the head and moves towards
the feet.," The given statement g
related to which theory of
development ?

(1) Principle of Development
Direction

(2) Principle of Developmen
Sequence £

(3) Principle of  Continuous
Development

(4) Principle of Interrelation

Which is nof an appropriate
statement regarding learning ?

(1) Learning is universal process.

(2) Learning is not the change in
behaviour.

(3) Learning helps in adjustment.

(4) Learning is transferable from
one situation to another.

Teacher needs to create an
inclusive environment in _ the
classroom :

(1) special children should be
kept away from educational
activities,

(2) the rights and dignity of
special children should be
protected.

(3) special children should be

considered as inferior 1o

normal children.

(4) special children should be
looked down upon among
normal students.
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to Piaget, concrete

operational stage is :
[\

o
(1) Oto 2 years
o¢

)
(2) Tto 11 years
(@]

(8) 11to 12 years

(4) above 12 years

In continuous and comprehensive

evaluation, 'comprehensive' means :

(1) by evaluét'pn of all subjects
(e

(2) by  evalflation  of only

education%ﬁﬁeld
[

(8) by homework evaluation
(4) by evaluating the development

of educational and co-

educational field

"You can make a student to sit in

the class bugpm\'t force him to
acquire knowlgago." This statement |
ia conﬁrmod(\,‘;})y which law of
learning ? Q

(1) by the law of Readinoss
(2) by tho law of Exoreiso
(3) by the law of Disuse

(4) by the law of Effoct

P.T.0

e
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L\
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\m( R (4) Motivation
28, Ffafua 1A R, RN Slij_m RO 28, In which of the following, instinct
(RRRIRCEERCIN I does not match  with related
omotic‘Q'z’
(1) T\ - (ﬂl‘ﬂi‘i/ Q) lm\toghtcr -~ Amusement
%)
\MW‘“‘JT\“ - Az N sy (2) Se}(@’\basement - Feeling of
A superiority
(@) R - wd (3) Gregariousness — Feeling of
S loneliness
o (4) Fgfy - v (4) Repulsion-Disgust
] 29. S A ¥ 9N wisRin ey _
r ESIES a 29. In the following who is related to
modeling concept ?
N (1) Sigmung Freud @
@) e %4 (2) ThfZndike
8 3= T (3) Algert Bandurg
By ©
) (4) Gl!gford
30. T3 B §@ J Siaw qlai%as Sﬂg 30. The mental age of 3 g (sm) years
7.5 aé (7 aé &6 7 ‘ﬂ"_xg old girl is 7.5 (seven years giy
= -gmrf«’ 16 \°° months) years, her 1. Q. will pe .
s¢z§‘1za (2) 90 g,&v (1) 125 (2) 90
@) 75 (4) 140 (3) 75 (4) 140
I [ Level2/5210] _ % /
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Divection : Answer the following questions by selecting the most aEpropriatc option,

46. Tl in the blank with the correct

option :

Stress, intonation and rhythm can
7 RT3 11T | o ——— y

(1) skimming

(&) scanning
V(S)/ch‘ills of various types

(4) transcription

41. Which one of the following i ng_g)
teaching aid in developing
listening skills ?
(1) Use of phonetic dictionary «~
() Gramophones «—

() Telewvision

Mm & film strips v+

48. Fil in the blank with the correct
option : '
Mulomedia materials for teaching
are ................

(I) LSRWlesson A
(2) grammar, syntax and lexicon

- yex:, image, zudio, video and

= — -

<lITleon

(%) phonetic, b

I . Phonemic lessons

- - B . :
S =T Darioipation
N ———— e
re -—
o Cervezs 5
/] - ”
<) W cCecrezse the level of
P — o S
lezrner parvicipation
o & E
" - ad ~r e
*) % poor compared o any
- - s -
TaEnCaICzed Ltex-o0ck

SCL NS0T
. Yy
(Leweiz /5210 | W
Zy
‘

48]
Direction : (Q. NdefOSO to 59) .

Read the followin@) passage and answer
the questions that follow : ,

I worked for _a brief while in a
college in Delhi, and among my more
uncomfortable memories is a language
exercise, I gave a group of eight
undergraduates: I asked them to imagine
that they had already graduated and
wanted them to write an application for-a
suitable job.\Seven of the eight students,
wrote applicationﬁ\for the jobs of clerks.
Even in one of thacgood universities, and
in a college-that Had a reputation for its
academic standa\%s, the system had
snuffed out all youthful ambition.

Even the highat youthful afhbition In
the prestigious colleges is to pass the
competitive examination for appointments
in the administrative services, and there

are colleges that are more proud of the
bureaucrats among their alumni than of
any scholars, scientists or leaders of
opinion, And these latter, u;derstandably.‘
are a small number. Students derive the
meanness of their ambitions from the
meanness of the goals that the colleges
propose to thems@tves. And of the most
ambitious, as wclk?qs of the least, among
the students, it could be said “that they
think more of whapgociety will do to oy for
them, than of whafhey would be able to
do for and to society. This is an éxcellent
apprenticeship for joining the ranks ‘0!
hirelings or of the unemployed. ‘

50. How long did the
Delhi College 2
(1) long time I
(3) three Y

author worlk in a

short ume

Gars (4) Beven yoars

kT O

|
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51, What exercise did the author give
the students ?
(1) a comprehension paseago
(2) procis wiiting
(3) expansion of a poem
(4)-a language exeicise

52. Seven out of the eight students
wanted 1o become ... _

(1) scholars

(2) bureaucrats

\(lsﬂ\cxk: 4/,',

(4) scientists

3. What according to the author is the

highest ambition of students In

good colleges 7

(W o qualify for sdministrative
SCIVICeS #

(2) 10 become Jenders of opinion .

(3) toteach

(4) to practice medicine

54. In the semence 'And these latter
understandsbly wme &  small
number”, what does "these latter"
refer 1o 7
(1) clerks, doctors & engineers
(2) bureaucrats, scholars and
clerks
scholars, scientists and leaders
of opinion

(4) only administrators

55. Fill in the blank with the correct
option :
The thinlang of the most ambitious
apd_the least ambitious is ......... ..

uricpmmon' (2) alike
(3) dissimilar for the society

GET IT ON
Google Play

il

ue, Identify the  atatemeont whloh 1y
frue |

(1) The colloge whoro tho auther
worked In - Dolhl - had s
roputation  for itn neadarmie
standardey,

(4) The studonts, who wore askod
to do the language ozeorcise
wore gradumtes,

(4) All collnguél{pmducu pelontists,
seholars  wand  leaders  of
opinion, (7

(4) The lnnglﬁl’gu oxOICIBG IS
storod in tho author's less
comfortable memories.

57, Fill in the blank with the correct
option :
Another word for "snuffed out’
|1 [P Y .
(1) smelled :;(2) instilled
(3) oncoumgoﬂ; (4) killed
o
58, Choose the opposite of "lormer”
from the passagoe :
(1) least (2) latter
(3) already (4) most

89. Pl in the blank with the cerrect
option

"Alumn”® in the
MEans ... ..........

(1) umuccuu({a{u!udenu
(2) successful srudents
(3) bureaucraty”

(4) old students,

b

passage

60, Which one of the lollowing s the fust
slep in teaching lormal gramemar 7
(1) compatison & generalization
(2) collection and presemation of
exampley
(3) application of rules
(4) moluvation and testing of

[ Level-2/5210]
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61. ~——— F A I 8 -
() e3) (rte?
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11
12 ﬁfﬁ’f
1 a8 B
@ 2 e ' 9
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® 3 Y S
2 3l __a;_'f Fx5
(4) 1z |2

62. X 0% %A # 6 BT § qof 37 e
aaﬁtYsmeamfmsﬁqi’fgqu,—(
@l & Z F gerdl 4 i et
@ oad @3 f F g gw 3|
e dH B FAT 2000 TR P
HHIT 9T A1 g4, & Z &7 A ®

(1) 200 99 (2) 250 &3

(3) 400 &Y4 (4) 500 &qq

63. Wa%ama%ﬁrﬁ

61.

3™

62.

63.

(1) 3mga (2) i
(3) &1 NP ERT
[Level-2/5210 ]

{1§§ —12-;—
\ 4) \ 3,
The square root of 2 5
3\" (,1
) %
sequaltor S
is equal to :
qu11 o )
@
1) 2—
T .
1 a
2) 2— '
@ 12
3 3— hy
3 3 \ 1
1
4) 3—
= 12

X can do a work in 6 days and Y
can do same work in 8 days. With
the help of Z, all three finished the

‘work in 3 days. If they altogether

got Rs. 2000 qcfier completing the

work, then Z g% :
™M
(1) Rs. 200 Q(2) Rs. 250

(3) Rs. 400 (4) Rs. 500

Find the odd one :
(1) Rectangle (2) Square

(3) Cube (4) Triangle

R.T.0.
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64. H 3G A 153 TW T I | wg
R R 10% B AN Y 20%

T U 31 B R
q 3991 T ? '@mm

(1) 204 TE
() 214 T@
() 220 TR
4) 170 9@

ss.ABCDaﬁ(E

| E 3T B
) ;Tmanﬁaﬁr% c%wanﬁ
FHE?
) \Qﬁ @ D
@3) B 4 A

66. ﬂ@tmﬁmaﬁ@tmvﬁam
%lfﬁv‘ta'zaﬁmﬁmqﬁaﬂ'{stﬁa
R R oww w R @ e
amménﬁmm%
| o3 R T ¥ 7 '

(1) 7 49X

\,«)/srim

) 6 97
4) 4 4rex

5,6,9, 15,25, 7
Q) 35 @) 371
) 40 @) 41

[ Level-2/5210]

64.

65.

Jrees

&

-

By selling an item for Rs. 183, a

man gets loss of 10%.

much should }}Q sell them to get
profit of 20% ? %

(1) Rs.204 &

[Xe)
(2) Rs.214 g
(3) Rs. 220
@R 170
‘.A/‘” Ay

C,'Dand E are sxttmg around
a c1rcular table facing the centre

)
o nly‘ﬁ\ is between E and B, D is to

66.

61.

© th
e ur'lmedxate ?:aeft of B. Who is to
. the immediate h!ft ofC?

M E

m(z) D
A

3 |
'(3) B 4 A

Shekhar walks 10 metres towards
North. Then he walks 6 metres
towards South, Then he walks
3 metres towards East. How far js
he from his sta:tmg point ?

(1) 7 metres o(z) 6 metres
™

%4) 4 metres
™M

. 2 ¢
Next term of the following number
series will be :

(3) 5 metres

5,6, 9, 15, 25, ?
() 35
3) 40

(@) 37
(4) 41

/

For how

- ot =g & dm ?
™
a
i L
@ N 9%

6o P, QT B R, O F WM
CRw R ROT, sd%w%w s
ﬁmmwﬁqﬁ%?w\/ 2

- /\:‘ﬂ'/,x;
O R - e,y
@) T en ) ”

% o
(3) &

.(,(asm

qﬁzxp—sooaﬂtm-woa @
Z00 =

(1) 280
" (2) 350
(3) 200
. 00

2, ‘?"‘ﬂ"fm@“mm:

8307

A\ *4
_&D_, BVF, DRH,? KGL
(1) FM] @M
(3) GN] (4 FNIKeq

— J':"E
(Level-2/5210]: £ 50

} ' p

'}

L 1
»‘.(
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68. If the letters in the word
CYBERNETICS are rearranged in
the alphabetical ordes, which
letter wrill be in the middle in order

after rearrangement ?
y % f
@ N - (4) R

69. Pis Q'ssister.Ris Qs mother. S is
R's father. T i is S's mother How isP
'relited 10 S ? g

(1) Daughter
(2) Sister
(3) Grandmother

(4) Granddaughter

70. 1f ZIP = 300 and ZAN = 400, then
200 =
< (1)(!250 i
y "y (20350 ¥
‘3) 200 ﬁﬁ Y

(4) 500

71. .Find the missing term in the
lqu;lollowing letter series : 3

< 4yn  AYD,BVF, DRH, ?, KGL‘

(1) FM] @ow v

{{,QgGNJ COFNE 1 Py S

i (’””t" ) ”\.‘P:T‘O‘
(¢ Mgt -0 it

7.3 ‘\~

I I B
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f 2 i i ight
6. @ gugdy ¢ A B of Sard # 76. The radius and th'e reight of ng
B:12 & ¥ o Ew omagA circular cone are in the ratio 8 : 12.

314 @ Fad A T A If its volume is 314 metze’, the
diameter ‘of, its base is equal to

T B (1 3.14) ¢
(n% (r=3.14): ‘/,.,
@ X-€ s

L)) '
. Sachinlis Shorter than Kamal, but

taller than Ram. Mohan is the
tallest. Arun is a little shorter than
Kamal and a little taller than
s &% 0 Sachin. Who is the second tallest

2. W AT ORg WA w=w | 712
B W wER T e, e Q '
g W fom oK afm { dre
8 deat § sy \

aHE?

3 among these five persons ? (1) 104X N~ o - (1) 10 metres
S ®
(1) s © @ o (1) Sachin (2) Arun & 5 x=%h (2) 5metres
@ W A T | 1= BT peo s
I (3) Ram (4) Kamal (3') (o ) B\ (5-/;}“ W (3) 20 metres
L ' b B8 D ;
13. 113 = T HR J@6H, a9 e 325‘[ \73. The diameter of a sphere whose “4) 15 HreX Ix * zb ‘li{ (4) 15 metres ~
» } .
aE T o —1%_ %}‘%* X X volum/e is 113% cubic metres is ; o . - ‘%z/ 17 T 7
Ny e
3 19"\'* i % 5 (90° - A) - cot A cos 90° - A) tan (30° - A) B 4
v @ o ﬂqr}letres (2) 6 metres 5 ;cqr'f ?: O Ll it ¢ oo (0" - Ay =ece A SIgRT - AR A)
®) 771X (4) 143 Q. ) Tmetres  (4) 14 metres M, 4 : -2
/ i (e A
74. = 3 2) cotA
4 ;%T HWW. (ST H = 28 o 2 4. 1f the diameter of a right circular (1) tanA T (2) cotA (1) tanA (2) co
g %"’@ 2_; _a‘ﬁ & @ %W cylinder is 28 em and its height is ' (3) cos A (4) sinA- (3) cosA « (4) sind
?ﬁr{ ) 20 cm, then the total surface area is < . [ ) & 2v3
3 1 equal to: ; 78. IR w5 AAR A I 2/3 TN 2 78. If the height of a tower is &
G 1760 i @ (1) 1760 cm? & ) @ BEr A e 2 |} g @ metres and the length of its
cm g ; the angle
2) 1 g =T R e shadow is 2 metres, then
o 2?.2 2: (#) Jg32 om® R i ‘%'25 of elevation of sun is equal to :
(3) 1496 &H? & )
Moy Y- (3) 1496 cm? ‘ ' ¥ -
#2992 e 3 "é}y':\‘ . (1y 30° @) 45° ) 3 OER
43 2% (4) 2992 cm? '
15, % TR R @ ~ W7 (AR “ .3
: g . 52 & % 75. The perimeter of th : . ot < 1
IR T O Fet B = 24 dw e thombus s > ey B IEl 79. The least number of complete
N 52 em. If one of the dj is 24 2 79. 20% IR IS T TH " a
%, ar E‘ﬁl@‘g@?ﬂ A TG i agonal is 24 ¢m, R 9 & T ] ofts years, in which a sum of money put
A Tvaad g Ao 108 e area of the Thombus is equal to : ) ﬁv} e . at 20% compound interest will be
> 120 i 3RO Mero ey _ ik 7 ' 3 more than doubled, is :
(3) 180 ¥ 1y 2 @) 3
XN=\% (3) 180 em? ) ' 3) 4 s -
3§;\¢$ (4) 90 & ho1o (4)190 ‘erg? (z( 4.5 ®) i
[Level-2/5210 ] HAg 4 ‘ ane P.T.O.
: ﬁ Lrre(Fh) | ‘a B . [ Level-2/5210] §
\"y ‘);Nyl?M 3“()%% %q, L Q__'.\-L + : { "
| . % ’q_f{{ o0 | 2 ! J i | ‘
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80. }ésom&@mmﬁ%ﬁ
7 ¥ qoad e el © Weg 3 R

77
13
Wi's
ﬁwﬁﬁ’?q%h-“zozsmaﬁa
TembEG T T
(1) &= =R ®

’\.‘:\\5\
@ fw dme IR

VL

@417

W =i N

OREE RS ¥

82. Fiias 3§ 4 Fuw am @n
STHARA TEg § Srahaq & ?
(l)maiﬁwq‘m:ﬁuq
(Z)m?ﬁmmmqu
@TWW
(@WW

83. Ao ¥ & Sm-a1 frer R

o Rl & st 787 o 2
«f st
@ w=gwm 5
& &g 9
(4) gea g

84. ﬂmqg&i ‘1'(2023-24ﬁgﬁ’q7vnq§
e i o

(1) 325,759/~  (2) 1,85,490/-
m,SS.ZBS/— (4) 1,04,550/—

[Level-2/5210) ,;I

#

80.

\' [8}

o

R

R u,‘_“,‘

84,

82.

83.

How many numbers from 11 to 50

are there which are exactly F i

divisible by 7 but not by 3 ?
(1) 3\ (2) ¢

(35 \ 4 1
‘Who  among the following: received
Ar]una Award of 2023 ?
l(l;‘ 'Dx\ksha Dagar

(2) Vmesh Phogat

(3) Babita Kumari

4) Ree}ika_Hooda

Which of the following Wild Life
Sanctuaries is located in Panchkula ?
(1) Chhilchhila Sanctuary

(2) Bir Shikargah Sanctuary

(3) Nahar Sanctuary

(4) Kaparwas Sanctuary

Whif:h of the following districts
does not come under the Shivalik
Development Agency ?

(1) Ambala N ] /

(2) Panchkula
() Yamuna Nagar
(4) Kurukshetra

Per Capna Income of Haryana
during 2023-24 On constant prices jg :

(1) 3,25,759/—
(3) 1,63,285/—

(2) 1,85,490,_
(4) 1,04,550_

N
4

85. mqaaﬁmvnmm%
= ¥ ST

(1)wm1ﬁsﬂaw |

W asicy DGR / ﬂ

S
OB R '\\

O AN

86. sﬁuwn@zﬁ@mm@r%mﬁ
fafea =

A
(1) e T@ =R m%

36

(@) amﬂqa%ﬁ?ﬂm A
(3) ey T Ui weH
m?ma{qéwim.

o, W B T A PR T @
o 2

(A)lzﬁw%il{a)agmm@
WE B AR W T B E A

(B)tﬁﬂ%??tmsmqﬁnmma%
(WWMI omeV
V(l)/%aa?nw#(a)?@%l
() ¥aq FUA (B) *@?U\

@ T A FTA @) TAFA(B)
W%l

‘ (4)MWW31K
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85. The Chief Justice of Punjab and

81.

Haryana High Courtis:

(1) Justice Sheel Nagu

(2) Justice Ravishankar Jha
(3) Justice Ritu Bahri

(4) Justice Krishna Murari._
f N - J
Identify the compositicn of Haryana
Public Service Commission :

(1) Chairman and four members
(2) Chairman and three members
(3) Chairman and five members

(4) Chairman and six members

Read the following statements
about Bhadanakas :

)

(A) During 12th century they were
ruling over ,the area of
Gurugram & Rewari.

(B) They defeated Chauhan ruler
Prithviraj-IIIL.

Choose the correct code :

(1) Only statement (A) is true.

) Only statement (B) is true.

(3) Neither statement
statement (B) is true.

(A); nor
(4) Both the statements are true.

& P.T.O.

o e
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88. WeWRd & NgER frierad ¥ R

89 WA T Br-w P eRa S W

90.

fFm eae W @ §9 shEE @
e ot 7 \

(1) =g
(2) A
ok

() 7w

el & ST S e g 2

(1) arar

(2) Jagan
vy o

(4) g

T w R wR_R R g
AT 35 & AW Bt 3 R
NS0

(1) T R
(2) 9 fife

&y T e

(4) W T

[

|
|

BAs per Mahabharata, who among
the following led an expedition to
Rohtak 7~

@]

- ™ -y
+ [/(1)- Bhigkma N
) 7 H ‘ m " ‘,[ ./.
(2) Arjifria f
(3), Bhim_ '
(4) Nakul

89. Which district of Haryané shares its

boundarl\ies with Seven districts of

Haryan%
w o

(¢)) M%%'la N/
o

(2) Panchkula

(3) Kurukshetra

(4) Jind

TS lfplxlg}}t /iggai}'nst British during the

First Anglo-Maratha war :
[\

(1) Gurdit Singh
v

(2) Lal 8ingh
n

(3) Bhoj Singh

[Level-2/5210)

(4) Manohar Singh

The Sikh Chieftain of Ladawa who
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Direction : Answer the following questions by selecting the most appropriate opuon.

FELL

ﬂ [23/D]

91. m%wmwgﬁmﬁlﬁrmﬂ 91.

How many spherical bullets can be

g o Pt T made out of solid cube of lead
(g/( % A% ‘ﬁ?’ﬂ\ﬁﬂ arg 4 Wi whose edge measures 44 cm, each
bullet being 4 cm in diameter ?
(1) 1500 ‘}2)‘2541 'Y (1) 1500 (2) 2541
(3) 1161 (4) 2210 _ (3 1161 (4) 2270

P, Q and R together can complete
a work in 30 days. If the ratio of
efficiency of P, Qand Ris 20:15: 12
respectively, then in how many

§2 ». 0 I R PRt @ FH A 30 |92
‘Rﬁiﬁ{ﬂaﬁ{m%luﬁp Q X
R 3 &l & ST AN 20 ¢ 15 ¢
12 %, @ R 3@ 34 Fd F= R

ot # q@ T wHA g days R can alone complete the
) 8 same work ?
L~ s 195
¢ 195 1 188
0¥ o %
235 <
@ =2 @ 22 X
o /‘ 225 o
o -
215
2lS @ =
\\(4) 2 2
) PR % ﬁm WIEI Space For Rough Work
TS ALY : 1% P
Q
Ry
\RLs
Ao
\2\ . .
o
22 Ve

P.T.O.

-
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[24/D] 5 ¥ (25/D]
5+V3 J5-V3 " 3 J5-43 - N
% :vg ‘/3*—;5 \;3 AR 93. The value of ‘//—51*?«0/; g is: 96. 21 A Brom 9@ g #, op WM Iz 96. In a circle of radius 21 cm, an arc
-N v -\ oy ’
W 4 ~ q V6-v3 5+ W 60° F HO T E, a9 F subtends an angle of 60 at the
(] < :
e = M 1) ¢ dars (:'),‘ centre. The ‘%ﬂgthoﬂhe arcis:
A - s @) 8 Ak ©
3) 9 = R (1) 20 @t o F & (1) 20em 5
(©)]
a ()R] _ 1 - 2\ ) ™
4 10 / / ' ?
& @) 10 b e @ 21 <! @ 21cm 2
. 3 = ) ,
R {
M. V2 & 4. 2is: ‘@)/22 Ll 'ﬁ.%%" ‘ (,3 ) g
L Y= R y
(1) =T = (1) Rational Number 4) 25 A / (4) 257cm
TS SE o, !
2) T3 w=R (2) Natural Number “l T )
T S | (3) Lrational Number 907, wH @q g9 wF W AW 8 FW £ 4| 97, Tﬁé’diamerlez of a right cizcular
@) Ts = . " el o . :
D (4) Integer Number T EAT 48 n WA L, & gEE |0 | cofie is 8 § and its wolume 15
(7o)
N i - 3 i@ & : 2
— 3 50 ' S s SE T 48xcm.W§. : is its height ?
Il ¥ 30 55 soar S==7 = S5. The sum of consecutive numbers - : ' h;9(7/ a
e & =T + from 1to 50 is : 3 ) 3 25
=8 Z2€¥g L (1) Zsa‘ﬁ ) e
(1) 1250 < 1) 1250
Lo @) 21 T . @ 3 om
et @ 1275 %ﬁ
@ 1228 . p)/g i @ Sem
(4 1288 (&) 1255 @) 15 5 (%) ISem
_ T W% 5 W % [ Space For Rough Werk : T 5% © [ @ / Space For Rough Work
S
o o
z =
2 s
[lowes-2 5] St . P RO
| — [ Levei2/ 5210] § T
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P RILI

A
N A
(4) n A Q
.‘ ',’\q)‘l
() 1y ~(\ "
A\ s

1\\‘i:". U] A ?’9‘; .:;

=
e, " tyaoH 1‘r'|'ilh' i
Al

(Y] /, én
(1) ay n)(‘Rl) =

~

@ "oy

GO 1) (v 0 2) (v 1)
‘ ‘ ‘

W (v D ) (v - 2)
N— W . |

D The yadjus and slant holght of a
done are in the ratlo of 4 @ 7, It ftg
amvad surlace area in 702 em®,

What is it radiun 9

:;_ Q) Aem
(%) Bam

qa

,’.;5'\.1 ) 1) em

1) 12em

99, The factornof ¥* 7y 4 6 aro ;

() ¥(x=6) (v~ 1)
@) (o =6) (x=1)
@) 4 Dx+2)(x=-3) '

@ =1 (v +3) (x-2)

W wd & e w78/ Space For Rough Work

™M
an
W
"

Q

(Levers sam) ;ﬁ

drce

100, Pdais onll @ 4 B 1 B W

?: ¢
(1 o°
l\
$2) 900 ©
™
(3) 180°
w \
(4) 360° ™ ,
: (]

Y &L
101. aX 6, 4, 7, P T 10 T "= 8 B,
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100. The measure of the angle between

the coordinate axes s : v
mo° \

(2) 8¢*

(3) 180°

(4) 360°

101.* Ifthe meanof6,4.7,P and 1013 8,

APHAT TS 1 &,' what is the valae of P ?
W 1 m 1
(2) 12 @) 12
13
@e 5 ®
®14 o @ 14
i [Ns}
™M
102. o (x-37 @ TEEs @ 102. U (r—3)isa factor of ¥* ~ar -18,
xz—ax-ls W,?ha=? thena="?
g—ja";';a .

A -2 : L () -2 _
@ 5 @ s m
(3) -8 @) -5

(¥ 3 @ 3

1% wd © T WTE / Space For Rough Work
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o
™
[+ o]
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(@]
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[28/D) Y

103. F=iama S=d #1 g 7 & 2
0,711,22/1%.2¢L,28,31,32,139,3¢

22034.3¥, 24, 22, o4, 35, 2£, 20, 22

()22 (27 21
(3) 25 (4) 20
B (1-g) -3 (- Be i)
. 8J @ 7 51oo
TR T 5 4 9/
" \o°
(Mo ?6 “
@ L e
125 134,
P
3) E
1
(4) 30

105. TF @@ gOPR. 99 3 ouR
HIFA 154 mg}’ 3T Far 15 T
Fq

103.

104.

105.

What is the median of following
data ?

25, 34, 31, 23, 22, 26, 35, 28, 20, 32
(1) 22 @) 21
@A) 25 (4) 20

03 )

is equal to ;
Mmo

1
() 126
@) —

4 —

The area of the base of a right
circular cylinder is 154 cm? and its
height is 15 em. What is the
volume of cylinder ?

(1) 2310em®  (2) 5720 cm®

(3) 1780 cm®  (4) 3803 crn?

% ¥l % faQ o/ Space For Rough Work

B @ s g7
O [-]
J,_,qg ™
< k. (=) -
(A‘(zammw (2) 5720 @
(3) 1780 FW°  (4) 3803 FH?
=
-
.;%
[Level-2/5210)
.
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106. msommaﬂﬂﬁﬁﬁw?
TN i B AR wemsdt & o

3Y
B A W ¥ 4,5 L s0

\ .
‘5‘\11 ~|,~3K~

a 2L 2

245 .‘gc"-
19 .',.‘_5..‘(,,_
@ s 8
21 S‘z C
) 35 #C 5
23
('4) 245

107. V2 & ¥ SyHGd B 3 WH %
2

(1) 1.410

@) 1.412 E«:‘ﬁ
o 1414

(4) 1.413

GET IT ON

-

" aine 3z (‘ - &
- ﬁ W [29/0]

106. Two numbers are chosen from the

first 50 m;nxlal numbers. What is
the probability of both the
numbers being prime ?

17

245 ~
o
19 @
245 ©
™
a

(¢))

@

21

) 245

23w l

(C))] 235

107. The value5f V2 upto 3 decimal
placesis: ™M

‘@
O
(M 1410 Q
@) 1412
(3) 1.414

(4) 1.413

1% 4 B R oE / Space For Rough Wo
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26 -5\ < h3¢R +lae01—4+| iy
g & 4234 %-m—w

c‘ W a - ' i

¢ \A& Q\ ) A <"

= b 168l =\ e = ' .

108. 3% 1°.2%.3° S.5%.g%-44q) 108. 1 1°:+2%+3%+4%.5% .63 =441, 111 QZ(: E"‘."’ﬁ”m"“mi’=? L ¥ & 5 22 acwe agle wd A
| R T 2871100 123 then e  valve  of 7, @ un’oeco'®o = = g um & ¢ oot § = 2. ten the vaiue of ‘i
) FEEE [+1=+2 T 23-43?53_‘%-103-123 is - zm? t22®Gecor®ams:

@
A1) 3528 (2) 3529 (1) 3528 & (2) 3529 m1 12 o)1 @2
o -
(3) 3600 (4) 3728 (3) 3800 = (&) 3728 . , i
_ 4 e O @4 * =
: = b 7
10s. ?T.:I Szc 8 —cosec 8 =0 F, & 109. ¥ sec 8 - cosec 6 = 0, then the ; -3
(sec * cosec 6) W IF wvalue of (sec & = 5) o : = o >-* "
= qﬂ:j:’?y.\ . Teueol(sec® ~cosect) will be: 112. 24, 30 2 50 T P, 7S 112. The Highest Commmen Factor (HCT)
” - o 2 - (S o wo) 7 - a . ©124.20. 34 will be -
B 5 2 2 @ = @ = " V. o -
> @ 5 2 N M 2 ’ (1)
_ - _ @) 3 ) 2
@ o *4 232 ® o S © 272 S @ s
g = o e (5 &
o, E-P)x-op)eT-piyat- Y 0. F-P)r-yEet <77t - 5%
U E isegualia: — 113. ==35 2. 2,95 =7 12 % &= 113. For sumbers 2 2 4. 5 ancd 12
() r'é_ % _1s P § AT v a7 Wich of the followmg statement
@ =5 g = troe ?
& -l .
el @ z*-;7% ) chomme < (1) Mea= = Median
£ s Maz= < Mode
af " % @ -5t @) = < Ty - E
© xSy : ) | l‘ﬂ%)" (3) Meas > Mode
(1] :.%_ £ 4 '! - |
| E 7 @ T (4) Mode = Mecian
i - 7r‘ - o
=== imw/sm;:ak@w : T Nd‘?-,”mwwm
= L :
f_-: g il ’i“ff o
= = .
;: “
-‘
=
£ 7 2
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| \Hmﬂg‘}‘la n i‘[“ 114- l]le Volu"le Of a SO‘ll-d cvh“de‘xyis. ks
2 =~ . Y ™ 3 |
\.”( \.‘lais 7 i““ 3I S(W Qsd S’?ﬁlq 448 n cm and height 2 cm, Wlla! ‘ ’

Z?)qz :zn ﬁ; ? omrch = ﬁ i’s its lateral surface area ? )
) 866 I AR = - () T84 em’
N (2) 866 cm®
'< (3) 539 wﬁ e ' (3) 539 em® S
(4) 352 FHP ~ (4) 352 cm® %
(e]

<

115. @ %2 89 4 w5 amram 40 3t

SRS GQ' - 115. In a cricket match, a batsman hits
. o il Wﬂﬁll o?(,' sqmﬂ#l? a boundary 8 timeg out of 40 balls
. g él?Bl"f f he plays. What is the proyabi]ity
i > that he didn't hit a bound ?
(1) 0.2 (2) 0.3 (1) 0.2 @ .
" _ : ) 0.3
w08 (3) 0.6 4) 0.8
116. a3z 3=4 guq ‘
b=6 @ & 116. If ;
j R . a4a=4 and b = :
g 4b* -a® F uE Em ;9 (304 of 2\/ap?_ 2 .Glthcn‘hevalue
) - 260 n »ma” will be ;
) 8J2 *
9% (2) 28 (1) 8v2 (@28 >
@) 12 4)3 I
)r\ @) 12 4) 3
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7@ 2070« 16« 6 41 0%
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(1) 10 &=
(@) 17 e
) 3

4) 1 &=

(253 W 9*\’ 3
118. 18, 24 3 60 # @YAR HHEA
(@o @o o) Zrm : \
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117, A willage having a population of

118.

4000 requzes 150 liters of water
per 87 It has a lank measusing
20 migx 12 m 2 6 m, for how
mn;gxkya wll the water of this

tank last? @f”"
o

(1) 10 days ASY 1227 "
:(2) 7Tdays
(3) 3days

r‘
(4) 1Zay

=

o

The Efast common multuple of 18,
24, 60wl be:

% ) 120
@) 240 % (2) 240
oo () 320
(4) 480 Sl
Lk HISpaceFofnoug@ork
2 4182416 ' P
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B ———

¥ ol SR e
.t 3.,,5 4

ifi

S 1. " H

i f

P.T.O.

‘Q-AE

?,‘:’5’9:" gﬁ\c. |

(% scanned with OKEN Scanner


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

[34/D]
119. 37 3 fer 3
TS @i

2

w7

? 360 § 3 g

o =

T TEa #: Fmg

“«T) 770
(2) 280
(3) 715

(4) T60

120. @ 9 @ T W ¢ arsg
a#%am‘%.nazzﬁzoo/oqgw
%am%sfrrﬁmsﬁ?zso-?mm
Wﬁr%13ﬂﬁ%ﬂﬁﬁ‘iﬁ!ﬁﬂ

(1) 750
(2) 500 s
(3) 1000 Eﬂ
(4) 1050

119. Neha's Iathef__ bought 3 dozen
pencils for ¥ ;S_'E]O. What 15 the cost
of 7 pencils ? @ i)l

‘O =
i 4
o

() 70

(2) T80

(3) 215

(4) 260
~

o
120. A shopkeeperimarks 3 product at
@

¥ 3750. He ﬁeﬂs 1t at a 20%
discount and 31 makes a profit of
{ 250 What 15 _the difference
between the marked ;.mce and the
Cost price of the Preduct ?

(1) 750

(2) 500

(3)-1000

(4) 1050
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A solid cube is cut into two

cuboids of equal volumes. :Jgh’at is

il

the ratio of total surface area of the

w87 given cube and that of one of the
oy cuboids ?
(e
o 1 1:2
(El:2 B
™
Gz - @ 3:2
¥/
@) 3:5 @) 3:5
@) 4:1 @ 4:1
& V2-14158, @ e 3 3 122. If Y2=1.414, then the value of
- u:r-ﬂ iy | ? J3+J6 upto three places of
= %E; wAAE
™ L ol dacimal is*
e 14
A > () 04
¢ -
(1) 0.41 '35}1 g 7 f?*
(2) 0.702 Leg T v Eﬁ
@) 0.413 o -
JA770.707
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1230 5 38\35-34 5403 :
S .s \34-25-*-{\28 123. The valuc of : 126, Ut (x4 y)i(x=-y)=17:3 A, ? 120, If(x+p):(rp)-T1:3, then ratio
Y ‘ESQ&S\"S—SB 383838+ 3434+ 34 (xﬂ +y3)'(xa- l) w 2 3.¢3.1 3y will be :
@347+ (C-QRC 30 ag 23484 38+38+34:34128.28 am el - 3# o Sy T )&? - N
S —————— - = K ) “ by
ERaci % . 8 e= Ea +28\28\28—38X34x84 d LY ~
~38+34-34-28-38x28 (1) 19:20 (m19:20 °
5 5 & i is (@) 29:21 N (2) 29:21
@) 150 @) 110 (1) 200 (2) 100 (3) 39:29 &'ﬁ (3) 99:29
e - q (3) 150 4 110 (4)“40:21 e (4) 40:21
. &= ‘.’S:T_—; = -,;‘-l W& 8 o 8 “a
s s I or 124. What will be the area of a triangle, 127, R 1Y s A B . B (’ "l)’ 2 W oa ‘vabed el
LS 99 INY 32 g/ %»‘ St two sides of which are 8 cm and ; &) - = +; i Y (e ’ 4 | B
By 5 - = \ .
ERE i = & ? &\ llcmandlheperimeterisazcm? P Sl S NI LUNL IS [ ('T:"“'E“‘”u"”"..n
= y
y " % : is: \D
(1) 84 5572 % S o ™
ﬁk‘?) 915 a4 (1) 84 cm? (2) 915 em? 1 @) 0 (nH1 a @0
(a]
4 0% w5 4y B am - @ 2 @3 @ 2 @3
T4 3 3
4 (3) 8V30 ¢m? (4) & em? 128, o x ©E awfs wem %, 128. If x ia a real number, then the
~ [ 1] ’.l .
, 125, W Z+2o1 ai0,65h, @ AL x? —x+1 % P A d vamaly - Nalaliiad’ o
a b =0, 125, f 2,0 ‘ :
al.p? AL : b+a—l. a#0,b#0, then the u be
o ] 3 v -’ i
(1) -2 @ -1 g e 3 st e @ %
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132. AABC U el P B, st

T B wwE B uft AB = 5

iR BC = 5 & ¥, & AC ¥
am ?

(1) 6.171 & [a1
@ 7.171 |

(3) 6.071 FH

(31,071 ad
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132. AABC is a mht«mqled miangie, 1
.

right angled S} B. I A3 = § cm and!

2=}
- DC=5an!h’=tACm.Hbo:
“ e {

133.

a

(1) 6.171 em

(2) 7.171 em

8.07! em
@ .

C7071cr!?1
@) 7. e \

g 0
'\.\ m
If O(p/3, 4) B the midpomnt of the
line segmen! joining the points
P(-6, 5) and Q(-3, 3 then the

r _/"/ R .(\ -“"ﬁ
s > 3 3
— ;\. l :
1N = - D - L =
BN ST v - xR Zoow 128, Ghven JAOR= Srand . QOR=2¢ + 10°,
== -“‘ _:'; OO = ._._m‘.‘{_{i-r 4 U A0Q 1 3 straight hine, then the
R rE =) o ‘\'_7_ value of xis :
=t -
a @ & < | (1) 30° @) 38°
® I @ 34 ' =
&) ° ;F ™ 1T =@ S4°
T —m—— Y — ‘ :“
13 S ' m =y | 130. Thevs 9 wi
i S0, h.e\.\lueof(].g) will be:
£ 1 < | \
o = e f 2 =
= = ‘ ) —
! R
o — !
185 @ =
‘ 123
> — — !
== (S ) ==
== s © ==
© — 1 o
s “ =
o )
3125 @
Qo
£ 5= 27 _2f e > = (111 S P
» e =Y - s w2l 131, 2% =37 =872 1hen the value of
5 == == c T ‘1“1 !\‘1 will
3 (‘-!' ¥y r/ be
ke ey & Mo 21
= E %) -% | 3 3 ~(%) !
a z ! = o . e
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@‘4_ &I w50 W aw o R
- =D t~.~\f;':\=:1:7345%
S h ISSS W usr }, so
e
Sitsest.
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m 3as
)
(1) 138 @) 170
) 180 (4) 200
135. =X == 10r-8y-12 & &
..:"\'\c— Koya
QE-L K) & T k=2 WK="o
(M1 ‘\V(fz
@) 3 ;?1(~.)~:
-
136. 3= SETI ABCD F FT A B, C
STDHEF[H3:7:6:43%, A
. I3L3,65 3
ABCDT= %

134,

135.

136.

A bag contain 1 rupee coins, 50 paise
coins and 10 paise coins. The
number of coins are in the ratio of
3:4: 5. If the total amount is 7187,
the number of 50 paise coins is

(1) 136 () 170
(3) 180 (4) 200
If 2K-1, K)is a solution of the

equation 10x -9y =12, thenK=?

[OR! ) 2
)3 4) 4
The angle of quadrilateral

ABCD, taken in order, are in the

Tatio 3:7:6: 4, then ABCDis a -
(1) Isosceles triangle
(2) Rhombus

(3) Parallelogram

=5 i (4) Trapezium
= = % % BT 9% / Space For Rough Work
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138.

A, Bz sc=2

35 ¥ Rrdw Fard awelt aedt & w9t
ot A A Frad 25 oW o7 8
W%laﬁ‘aaﬁmm%

o=
‘;,n/sso e 2 ‘(“Sh
(2) 3500 12 %
(3) 3750 ¥H? 4‘.'5“
(4) 4000 TH?

139. A B dRC @ B & d @
gk A-B= 16°, B C = 30° &, @

1c <= 45
“. fs'—“{

) ZA =80°, £B = 65°, £C = 35°

(2) £A=30° £B=60° £C =90°
(3) ZA = 40°, /B = 60°, £C = 80°
(4) £A=90°, £B =40° £C=50°

138.

139.
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(H1
@) 2

The radius of the top and botiom of | t

.a bucket of slcst,hexght 35 gm are

25 cm and 3 cm. The curvo:.i '
esurface of the glq%et is: *

(1) 3630 ecm?

(2) 3500 cm?

(3) 3750 cm® £

(4) 4000 cm?

-

AB&Caxethelhneangluofl y
triangle. uA-g—ls*a C= 30“‘: ,
xhenéA.éBa&éC"?

™

(1) <A =80°, 28 = 65°, 2C = 35°
(2) <A =307, <B = 60°, £C = 90°
(3) ZA=40°, 2B = 60°, 2C = 80°
(4) ZA =90, 2B = 40°, £C = 50°
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nA |
21k A 96 e 5 _ 6
o H Mg S
P = -\ [43/D)
g x+1)  &r -
190, h EE A W A qd A @i 24 140. A boy travels 24 km towards east y SO S 3 ) = 2),‘ 143. If(x+1) and (x- 2) are factors of
n | x et br g 1, ) xvar~hrg ten fnd the
[ @ asn wom B, T ge ard] from his house, then he turned his Zasa b F A7 319 it - values ofa and b respectively :
(4
~
Ay e @ ST\? 10 ol o g0 left and covers another 10 km. ) 2.3 S %/, W 23
3&-* & ¥, IO e e o What is his total displacement ? §
" & (2) 3,5 Q so=A (@) 3,5
.f)q (A \(»ﬂc aa mﬁdig (2) 23 ffiell (1) 22 km (2) 23km ' 1
o= @ s e,  wze e (3) 25km (4) 26lam R -b=32-¢ SNsa
" Lo’ T | =
141 593 523 57! o W A 141, The value of 5%+ %3 x 57 wil “2s 935,
gi ) ,; be: S
1 '3 - _ .
X1 0 - et o @ 1 THIC A 3, %13, e T BT 144. Which term of the Arithmetic
5 @ 5 = (@ 10 @ 5 4 10 w8 ¥ ? 0 .
g : Progression 3, 8, 13, 18, ....is 78 ?
542- (2:3), (5:6) a9 (8:9 = Wl 142. What will be the compound Ay 165 15=rd 1 J
s = 2w ? proportion of (2:3), (5:6) and > (Lo
8:9)7? (2) 13ar . (2) 13th
) 1:2 (1) 1:2 ‘ &
@ 20:27 @) 20:27 e (A2 (3 12th j
(3 15:9 (3) 15:9 Eﬁ @ 108
(4) 40:81 ’ (4) 40:81 '_' (4) 10th
1
@ 3R /S
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[400) E,m g ; m [45/D]
e ¥ L
. g .
“\ wha »? St e 2wl 1. g l’llﬁlq — = =
W RN l‘-\t S What will be (he exterior angles of WL s 9'6—+5'+ L=? { “1', S?lver) 9~-%x Do =7
A - *‘ N / y T4
N
ahexapgon ? (1) 9.99 i \/p q‘;_s- * ) (1) 9.99 Lf’?’
3 ) 4 =" ) -
i () (2) 8.89 go B " (@) 8.89
A n\‘ 2N N \60—*/4 .
N (@) 60 \mﬁ.aa (il (3) 9.88 ~
RS 3 —T & : -4
W) 840 Eq‘."!g ~
4) 8.98 -
@ @ : 2 4898 ©
[CARTARN i ' 8
R N & 148. T TV H AW 1:2:3F U 148. The dimensfans of a cuboid are in
. 2 2 : G‘ 10y (x -3 b . q | i e . ¥ 4
SN -Qha@-aten W Wy -§) ‘§=~4J”-0. 3 Y R ww g o e the ratio of }: 2 : 3 and its total
L = then the v x? 3 8 f &
RRRETL A T en the value of Tw_*'}'ﬁ Ho 88 it frex ¥, o omaw ¥ ? /ds\nface‘}hea is 88 m?. What are the
s will be ' , VR
" oA <\ . P~ dimensions ? £
\* - \ - 3
o M ’ 9 E i
& 8 () 2 @, 4 deive (1) 2m,4m,and6m
@ 9 "2y
&8 (2) 3 W, 6 Mo (2 3m,6mand9m '3
® 3 &
n h L e 3 .
@\ ol (3) 2 M@, 3 M6 (3 2m,3mand6m”
SSIN=S ~ A W (4) 6 W, 8 Mali0dm (4) 6m,8mand 10m
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[46,01 10\ 4“:"'; (3¢
a
140, Pr=fafad & A amA-d frs ST
CL i 0.63,06%6),
7 9 8 11
I e = 2E
L 11'14°13'15 <
S 1178
14°15'13"13
87191
13'11' 14" 15
7 8 11 9
(4) bl Tt T Tl =
11 131514
ja
4

150. TR aivies x+%\/}7+a2 @ Tt o

%,a'amm%%

(2)
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149. Which of the following fractions
: P~s :
are in ascending order ?
™
¥ oy S28 11
1 1«213' 18

2 Pl S Syt 5w
@ 14715 13 13
8 7 9. 11
@ === —
1311 14 15
7 8 11 9
(4) et Bonent St R
11 13 15 14
o
150. If expression x+%\/;+a2 is a
©

©
perfect sfare, then what is the

value of 'a’'?

1
1) +— e
18 ) i-i
% 1 18
i_
8 < @) té—
1 s
@ —-'§~ % 1
. @ -3
@ < il
$ @< 2
4 [ee)
et
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